TRUEE HoESKEREER

KEHKX = - BEKEMZIE

(RFHKET KE HR)

# E & HE 2

TR 24 £ 8 A

K BT K E R



KEHRK X - BEEKEMEKZILE
(BEEME-BEEFTTF)



IEL PE ¢100 REBEIKEMEIE (EITIH)
BREER
PE
100 L= 32+31+30+32 = 125m
£ o
Rtk -~Tik &t =1 ® =%
g #
KERMERKRIIFLUE AL E S8R
ZOEE ¢ 100X 5.0m Li= 4.600 1R
EFV7 vk
¢ 100 33
EFfZ~U~ HiRE
¢ 100 X 90° 0.500 L1= 1.000 20
EFF XK HiI R
¢ 100 X 90° 0.610 Li= 2.440 40
EFF—X(REm) HiI R
¢ 100 X 100 0.440 L1= 0.880 23
PVRLwH—IaA/ 0k
¢ 100 43
PEEOFY IR —ILHE | BEEEE
¢ 100 0.865 L2= 3.460 4}
TEIFRYIX
D24§RE (T 43
TEIFRYIX
25B20 43
TEIFRYIX
25C30 43




% L
Fgdk - <1k

257

60




% FR

Ak - <Tik =x B
5B
RY)IFLUBIERT
100 YL1= 89 m
PERMEIZEST
(20) 100 7 0
PERMEIZEST
(10) 100 5 O
TUIHFZRET
100 4 &
PERASSEMFT
100 4 0O
AHh=—HIEFET
100 4 0O
HPFARVIX
H=600 (&=500) 4 BT
HRER A
t—0T454 Y= H 125 m
EHRT-7
W=50mm 125 m
HEKEERT

125 m




% 03
otk - <tk S ey S ey
£ T
3
BTiEAs ¢ 100 H=0.90 24+31+30+24 10.9 m




YIERE 6100 PE

I -
m| Zl By z ] FERIER | EER +
100 1. 000 1. 000 0.300 0.300 1. 000 1. 000 4.600 0. 400 1
B & N=
&t 1. 00 4. 600 0.400 1




i - S

3  L=10.9m
W=0.50m
B W Fedk~tih | B | smay| 2% B =y B |#any 2 |mauy 2 ey 2 |mwmzy s £ Mt B OE
As
SRt T | +=10emET| m [ 2.000 21.80 21.80 22
Co
ST | t=10mET| m
As
SERELT t=5¢m m2 | 0.500 5.45 545 5
As
SEIELT t=4cm m2
Co
SERELT t=10cm | m2
BEARIEE T m3 | 0.535 5.83 5.83 6
ANEEIT m3
ABERHLI m2 | 0.500 5.45 5.45 5
BHE
BRI 439%=3 | m3 [ 0.075 0.82 0.82 1
24e+ | m3 [ 0250 2.73 2.73 3
b m3 | 0.149 1.62 1.62 2
As
FRiRAE T m3 | 0.025 0.27 0.27 0.3
Co
FRiRAE T m3
BHAET m3 | 0.280 3.05 3.05 3
ZHiAs
HEREET t=5¢m m2
HEiAs
HEREET t=5¢m m2
ZHiAs
HEREIET t=4em m2 | 0.500 5.45 545 5
PIEARRE
BT t=11cm | m2 [ 0.500 5.45 5.45 5
PIEARRE
BT t=15cm m2




ITE% PE ¢100 {REXEC/KEMRTE
BEEER
PE ¢ 100 L= 216.8+2.3 =219.1m
PE ¢75 L= =3.2m
£ o
27 R B B =1 = H =
' M
PE EE 1J—R#
¢ 100 X 4.0m L1= 44 X 4.000 =176.000 44 K
PE EE 1J—R#
¢ 100 X 3.0m L1= 5x3.000 =15.000 5K
PE EE 1J—R#
¢ 100 X 2.0m Li= 2x2.000 =4.000 2K
PE EE 1J—R#
¢ 75 X 2.0m L1= 1X2000 =2.000 1A
PE EE 1J—R#
¢ 100 X 1.0m L1= 5x1.000 =5.000 5K
PE EE 1J—R#
¢ 100 X 0.5m L1= 1X0500 =0.500 13
JLEE J—Z#t
¢ 100 L1=13x1.000 =13.000 13 O
PE TJLR J—Z#t
¢ 100 X 90° L1= 8X0420 =3.360 8 3
PE TJLR J—Z#t
¢ 75%90° L1= 1x0.360 =0.360 13
PE ¥—X 1) —X %4+
¢ 100 X 100 L1= 1X0.630 =0.630 13




% FR

ok -~ti& H =1 =® B =®
PE ¥F—X 1) —2# L2= 1x0.200 =0.200
¢ 100X 75 L1= 1x0.400 =0.400 13
PE E&EE (JLIVEF) J—Z#t
¢ 100 L1= 2x0.300 =0.600 23
R—IL/ LT —R#
$ 100 L= 1x0.600 =0.600 15
R—IL/ LT —R#
@75 L= 1x0.600 =0.600 15
aq ok J—Z#t
¢ 100 82 O
aq ok J—Z#t
¢ 75 33
PVIaq ok
¢ 100 23
VPAYIMN-NVE R KD F
¢ 100 1 E
VPR Ry N\—
¢ 100 1 E
AbyA==TAvY
D24Z {7 23
AbwiIi—RyoIX
25B20 23
AbwiIi—RyoIX
25C30 23
57
60 24




% FR

Rtk -~Tik B =1 = 5 #*
5B
R)IFLUBHET
(ANA) @100 YL1= 218.490 2185 m
R)IFLUBHET
(ANA) @75 YLi= 2560 26 m
aAv b
¢ 100 82 O
aAv b
®75 30
PERASSEMFT
¢ 100 2 O
Ih=—HILFET
¢ 100 2 O
NILJHRET
¢ 100 1 E
NILJHRET
¢75 1 &
VPATEIKEIFEZET [V7b -3
¢ 100 1 E
VPEHAMY/N—RET
¢ 100 1 E
A=Ky I RERET
H=0.70m 2

10




% FR

Rtk -~Tik = 5 =
B =
RUTFLUERET
(ANA) @100 2185 m
RUTFLUERET
(AN 75 26 m
ey )
¢ 100 82 O
ey )
¢75 3 a
PERE S FEI T
¢ 100 20
AN HIIBFIRNT
¢ 100 20
NILTHEET
100 15
NILTHEET
b 75 1 &

11




£ o
27 R B &t =1 =® H H =1 =®
+ T
KB
9 AbwsS—ER
BTiEAs ¢ 100 H=0.90 2 B
11
FFiEAs ¢ 100 H=0.50 54 m
12
BTiEAs ¢ 100 H=0.50 28 m
+ T
B £ B
13
FFiEAs ¢ 100 H=0.50 54 m
14
BTiEAs ¢ 100 H=0.50 28 m

12




T T EFX
10 N=2Bfr| 11 L=54m | 12 L=2.8m | 13 L[=54m | 14 L=2.8m
A by —E | W=0.50m,H=0.50m|W=0.50m,H=0.50m | W=0.50m,H=0.50m| W=0.50m,H=0.50m
5 ¥ WKk | Bl |wpmay| B 8 |ageyl B2 (spey| W 8 |lagwy B E |spey| B 8 |luwwy B2 F WEr | =
As
SEYIT | t=10emET| m | 5.400 10.80[ 2.000 10.80] 2.000 5.60 27.20 27
Co
SREYIHT | t=10emET| m
As
SEEELT t=5¢m m2 | 1.800 3.60] 0.500 2.70] 0.500 1.40] 0.500 270|050 1.40 11.80 12
As
SERIELT t=4cm m2
Co
SHERELT t=10cm m2
BEmiEEIT m3 | 1170 2.34] 0225 1.22]70.225 0.63] 0.065 0.35] 0.070 0.20 474 5
AAEEIT m3 | 0.920 1.84 0.149 0.80| 0.149 0.42 3.06 3
ABEBLI m?2 0.500 27| 0.500 140 410 4
BE
BRI 479%%=3v | m3 | 0.270 0.54] 0.125 0.68] 0.130 0.36] 0.050 0.27| 0.075 0.21 2.06 2
F4E+ | m3 [70.900 1.80] 0.089 0.48] 0.089 0.25] 0.160 0.54] 0.100 0.28 3.35 3
i m3 | 0.740 1.48 148 1
As
BHANET m3 | 0.090 0.18] 0.:025 0.14] 0.025 0.07] 0.025 0.14] 0.020 0.06 0.59 1
Co
BULET m3
BtUNET m3 | 1190 2.38] 0136 0.73] 0.136 0.38] 0.174 0.62] 0.119 0.33 444 4
ZHIAs
HEREIET t=50m m2 0.500 2.70 0.500 2.70 5.40 5
FHiAs
HEREIEL t=5¢m m?2
ZHIAs
Hx={REIBT t=4cm__| m2 | 1.800 3.60 0.500 1.40 0.500 1.40 6.40 6
FIERRRR
BT t=11om | m2 | i.800 3.60 0.500 140 5.00 5
FIERRRR
PRAET t=15cm | m2 0.500 2.70 2.70 3

13




IE% PE ¢75 KREFEKEMBZISE
BERER
HIVP(RR)
$ 100 L= 1.5+1.5 = 30m
HIVP(RR)
b 75 L= 201.9+2.4 =204.3m
% L
Ak - <Tik &t =1 =x B Py
g #
KERMERKRKIIFLUE AR E S 08
TJLIFEE ¢100%50m Li= 2.720 1K
KERMERKRIIFLUE AR E S 08
ZOFEE ¢75X%5.0m L2= 197.650 40 7
EFV/7 vk
¢ 75 63
EFfZ~2~ HiKk
®75%90° 0.440 L2= 0.440 13
EFfZ~2~ HiKk
®75%45° 0.380 L2= 1.520 43
EFRSAUKR HiTE
®75%90° 0.540 L2= 0.540 13
EFRSAUKR HiTE
®75%45° 0.480 L2= 0.960 20
EFF—X(REm) HiTE L1= 0.280
¢ 100 X 75 0.140 0.31 L2= 0.620 20
PEEOFY IR —ILHE | BEEEE
®75 0.765 L2= 2.295 3 E
PVRELyY—LaA bk
¢ 100 4 3




% FR

Rodk - <ok = =
HIFARVIX
D24§kE=1T 33
HPFARVIX
25B20 3
HPFARVIX
25B30 13
HPFARVIX
25C30 3 3
25D
60 3 #
Y L= 3.000
YL2= 204.025

15




% FR

Ak - <Tik B =1 =x B =x
5B
RUTFLUERMAT
100 TLi= 3000 30 m
RUTFLUERMAT
b 75 Y L2= 201.730 201.7 m
PERREEST T
(20) ¢ 100 2 2 0O
PERMEEST S 90° 45°
2o 75 6 + 1 +4 11 0
PERMEIES T 90° 45° [E]
(1) ¢ 75 1 + 2 + 40 43 0
PEFSSEMFT
100 40
AHh=—HIEFET
100 40
TUIFHET
75 3
HPFARVIX
H=1200 (f&§=1000) 1 BT
HPFARVIX
H=900 (&=700) 2 BT
e b
t—0T454 Y= H 207.3 m
EHRT-7
W=50mm 2073 m
HEKEERT

2073 m

16




% FR

feak-<Tik & =1 X & X
+ I
1

Fi8As 100 H=1.20 15 15m
fFiEAs </>275 H=1.20 3.3 33 m
BTiEAs ¢?oo H=0.90 15 15 m
BTEAs (b7g H=0.6~1.2 15.0 15.0 m
ATiBAs ¢575 H=0.90 14.4+1.3 15.7 m
AT EAs ¢775 H=0.60 104.8 104.8 m
ETiEAs ¢1oo§75 H=0.9~0.4 10.0 10.0 m
HTiEAs ¢1c?0-75 H=0.60 54.4 544 m

17




YIERE 6100 PE

o g A nm R EEEE | BEE | A%
100 0. 860 0. 860 0.500 0.500 2.720 2.280 1
BE B N=
£t 2.720 2,280 1

18



tIEsE 675 PE

& B KW R
O ] 8 g Z 9] FRER | BER N
¢ 75 3. 430 0. 560 0. 940 4.930 0.070 1
¢ 75 1.470 0. 500 0. 400 0.500 2. 870 2.130 1
¢ 75 3.310 0. 540 0. 500 0.500 4. 850 0.150 1
B % |14+23 31E 185. 000 37
it 197.650 | 2. 350 40

19



T ITEHE
1 L=1.5m 2 L=3.3m 3 L=1.5m 4 L=15.0m 5 L=15.7m 7 L=104.8m
W=0.50m W=0.50m W=0.50m W=0.50m W=0.50m W=0.50m
Z FodR~13% | B |amsy| £ = (wauy| 2 2 |zeawy| #H 2 |aaxy| #H = |aaw| #H = (weuy] 3 2 INET
As
SEEYIBT | t=10cm=ET| m | 2.000 3.00] 2.000 6.60] 2.000 3.00] 200 30.00] 200 31.40] 2.000 209.60 283.60
Co
SHEYMT [t=10cmET| m
As
SERELT t=5cm m2 | 0500 0.75| 0.500 1,65 0.500 0.75| 0.500 7.50] 0.50 7.85] 0.500 52.40 70.90
As
SERUELT t=4cm m2
Co
SERUELT t=10cm | m2
HWMiES T m3 | 0.685 1.03] 0.670 2.21] 0.535 0.80] 0520 7.80| 0.520 8.16] 0.370 38.78 58.78
AAEEIT m3
ABERBLI m2 | 0500 0.75| 0.500 1,65 0.500 0.75| 0.500 7.50] 0.500 7.85] 0.500 52.40 70.90
BE
B RE I 2399%—3v | m3 | 0.050 0.08] 0.050 0.17] 0.075 0.11] 0.075 1.13] 0.075 1.18] 0.075 7.86 10.53
F4E+ | m3 ] 0400 0.60| 0.400 1.32] 0.250 0.38] 0.250 3.75| 0.250 3.93] 0.100 10.48 20.46
b m3 [ 0.149 0.22| 0.139 0.46| 0.149 0.22| 0.139 2.09] 0.139 2.18] 0.139 14,57 19.74
As
FELRALIE T m3 | 0.025 0.04] 0.025 0.08] 0.025 0.04] 0.025 0.38] 0.025 0.39] 0.025 2.62 3.55
Co
FELRALIE T m3
L ET m3 | 0.285 0.43| 0.270 0.89] 0.285 0.43| 0270 4.05( 0.270 4.24] 0270 28.30 38.34
FHIAs
SEREIET t=5cm m2 [ 0.500 0.75] 0.500 1.65 2.40
FHAUAS
SHEREIEHT t=5¢m m2
FHIAs
SHEREET t=4cm m2 0.500 0.75| 0.500 7.50] 0.500 7.85] 0.500 52.40 68.50
RIRETE
WET t=11cm | m2 0.500 0.75 0.500 7.50] 0.500 7.85] 0.500 52.40 68.50
RIRETE
AT t=15cm [ m2 [ 0.500 0.75] 0.500 1.65 2.40

20




T T EHE
8 L=100m| 9 1L=54.4m
W=0.90m W=0.90m
Z FodR~13% | B |amsy| £ = (wauy| 2 2 |zeawy| #H 2 |aaxy| #H = |aaw| #H = (weuy] 3 2 INET g wWE
As
SHEYIBT | t=10m=ET| m | 2.000 20.00| 2.000 108.80 128.80 412.40 410
Co
SHEYIBT | t=10mET| m
As
SERELT t=50m m2 | 0.900 9.00| 0.900 48.96 57.96 128.86 129
As
SERELT t=4cm m2
Co
SERELT t=10cm | m2
WIS T m3 | 0.828 8.28| 0.693 37.7 4598 104.76 100
AAEEIT m3
AFERHLI m2 | 0.900 9.00| 0.900 48.96 57.96 128.86 130
BE
B RE I 7599%=3v | m3 | 0.135 1.35| 0.135 7.34 8.69 19.22 19
4+ | m3 ] 0315 3.15] 0.180 9.79 12.94 33.40 33
b m3 [ 0.272 2.72] 0.272 14.8 17.52 37.26 37
As
FEIRALIE T m3 | 0.045 0.45| 0.045 2.45 2.90 6.45 6
Co
FEIRALIE T m3
HIOET m3 | 0513 5.13| 0513 27.91 33.04 71.38 71
FHIAs
SHEREET t=5cm m2 2.40 2
FHAUAS
SHEREIEHT t=5¢m m2
FHIAs
SHEREET t=4cm m2 | 0.900 9.00| 0.900 48.96 57.96 126.46 126
RIRETE
BT t=11cm | m2 | 0.900 9.00| 0.900 48.96 57.96 126.46 126
RIRETE
%EI t=15cm m2 2.40 2

21




IEL PE @100 AHREKEMZKLIE
BREER
PE
¢ 100 L= 68.9m 68.9m
% R
Fodk -~k it =1 Fa B =
g #
KEAMENARIIFLUE A FE LI E R E 508
ZOEE ¢ 100X%5.0m Li=  64.700 13 A
KERMERRIJIFLUE
TJUIVFEE ¢100X50m 2.79+1.00 L1= 3.790 1K
EFV/7vbk
¢ 100 13
EFfIZAUR Bk
¢ 100 X 45° 0.380 L1= 0.380 13
PVRLywH—a4 2k
$ 100 13

22




% FR

Ak - <Tik B =1 = B =x
5B
RY)IFLUBIERT
100 YL1= 68.870 68.9 m
PERMEIZEST S w45°
(20) ¢ 100 1 1 2 &
PERMEIZEST [E]
(10) 100 13 13 &k
PERASSEMFT
100 10
AHh=—HIEFET
100 10
HRER A
t—0T454 Y= H 68.9 m
EHRT-7
W=50mm 68.9 m
HEKEERT
68.9 m

23




A Fi
AR -~tiE & i N & & i N
r I
3
BT3EAs ¢ 100 H=0.90 1.5 1.5 m
6
BT3EAs ¢ 100 H=0.60 3.0 30 m

24




UEHRHE ©100 PE(RF=EE)

g B MW R
Z = g z &) EREE | BEE %
@100 4.700 4.700 0. 300
BE T N= 127K 60. 000 12
it 64. 700 0. 300 13

25




UIESRE 6100 PE (7°VIvh)

# B ®W KR
=] & B g Z ] FRER | BRER #
1. 000 2.790 3.790 1.210
B & N=
&t 3. 790 1.210

26




T T EFX
3 L=1.5m 6 L=3.0m
W=0.50m W=0.50m
% RoqR~Ti% (B | mmy| 8 = |atyy| 3 2 |#any| ] E |aew| ] 2 |sayy| ] = |waw| = H Wt o=
As
SEYIT | t=10emET| m [ 2.000 3.00] 2.000 6.00 9.00 9
Co
SREYIHT | t=10emET| m
As
SHERIELT t=5¢m m2 [ 0.500 0.75] 0.500 150 2.25 2
As
SHEREZELT t=4cm m2
Co
SHEREZELT t=10cm m2
BRI T m3 | 0.535 0.8] 0.385 116 1.6 2
AFEEIT m3
ABEBLI m2 [ 0.500 0.75] 0.500 150 2.5 2
BE
BRI 439v%—=3v | m3 [ 0.075 0.11] 0.075 0.23 0.34 0.3
F4E+ | m3 [70.250 0.38]70.100 0.30 0.68 1
it m3 [ 0.149 0.22] 0.149 0.45 0.67 1
As
FEIRALIE T m3 | 0.025 0.04] 0.025 0.08 0.12 0.1
Co
BULET m3
BtUNET m3 [ 0.285 0.43] 0.285 0.86 1.29 1
ZHIAs
HEREIET t=5¢m m?2
FHiAs
HEREIBT t=5¢m m?2
ZHIAs
Sz {REIHT t=4cm__| m2 | 0.500 0.75] 0.500 1.50 2.25 2
FIERRRR
pRAz T t=11om | m2 | 0.500 0.75] 0.500 150 2.5 2
FIERRRR
PRAET t=15cm m?2

27




IEL HEAXEHIE
BEELER
N= 13X
£ 7
R4k - ~tixk =t = =® 5 =®
++ =T
HEEET LR P10C R p100 {100 £ P75
As t=5cm 545 + 640 + 540 + 126.46
£ P75 AEdK ¢ 100
+ 240 + 225 = 148.36 148 m?
HERIET
As t=4cm = m?
SHERREET Rp100 FE P75
As t=5cm 5.40 + 240 = 780 8 m’
THEERREUET SEAR P10C R p100 £ P75 B 100
As t=4cm 545 + 6.40 + 12646 + 225 = 14056 141 m?
A7k Erth &R
FTERYT 14056 x 0.01 = 1.41 1m?
TEEREIE = 14836 148 m’
BRSNS T
As 14056 % 004 + 780 x 005 = 6.012 6 m°
BtansT
T+ = 1.410 1m°

28




29



HOAr + T % & 5t & # m %y

iR R 5 4 ®r TR BAAE Ei - S o &
As
AfEEY) b T t=5cm m [1.00 X 2 2.000
As
EERUEL T t=5cm | m2 | 0.50 X 1.00 0.500
500
bk R T m3 | 0.50 X 1.37 0.685
WmEl | #HEL
| ANTTREIL m2 | 0.50 X 1.00 0.500
50 AsERIEIEEL | HAERIAS 50 FEITy v —T
v 200 [HERELT m3 | 0.50 X 0.10 0.050
! B 150 T
| HEL T m3 | 0.50 X 0.80 0.400
iﬁdﬁ??y“/’v*?‘/ 100
1370 FEm PRl o WhH L T m3 [ 0.50 X 0.32 — 0.011 0.149
! GeAE+3m 0.685 — 0.400 (0.285)
1420 | PRy T m3 0.685
- 800 [As
%
| REE HI5 T m3 | 0.50 % 0.05 0.025
| PR 2R As
| EEEIHT t=5cm | m2 [ 0.50 X 1.00 0.500
! 100 T
b P T t=15cm | m2 [ 0.50 X 1.00 0.500
| 120 1320
100
|
EEREERR = 0.12°X /4
= 0.011 m3

30




HOAr + T % & 5t & # m %y

iR R 5 4 ®r AR~ BN Ei - S o &
As
AfEEY) b T t=5cm m [1.00 X 2 2.000
As
SAE R T t=5cm | m2 | 0.50 X 1.00 0.500
500
bk R T m3 | 0.50 X 1.34 0.670
WmEl | #HEL
| ANTTREIL m2 | 0.50 X 1.00 0.500
50 AsERZERUEL | HEEKAs 50 Y T
! AL = i =2 . >< . .
! B e 150|200 %iii m3 | 0.50 0.10 0.050
| HEL T m3 | 0.50 X 0.80 0.400
iﬁdﬁ??y“/’v*?‘/ 100
1340 FEm PRl o FOEEBEL T m3 [ 0.50 X 0.29 — 0.006 0.139
! GeAE+wm 0.670 —  0.400 0.270)
1390 | By T m3 0.670
- 800 [As
%
| REE HI5 T m3 | 0.50 % 0.05 0.025
| PR 2R As
| EEEIHT t=5cm | m2 [ 0.50 X 1.00 0.500
! 100 T
b P T t=15cm | m2 [ 0.50 X 1.00 0.500
| 90 1290
100
:
RERERR = 0.09 °X gz /4
= 0.006 m3

31




W ¥ B =l A "
H i + T ¥ & 5 &8 F Mm%
T Fi AR NI RS AR AR~ BN i &' KX o &
As
3 Sl T t=5cm m | 1.00 X 2 2.000
As
HIBE] SAE R T t=5cm | m2 | 0.50 X 1.00 0.500
500
+#%0 bk R T m3 | 0.50 X 1.07 0.535
H=0.90m WmEl | #HEL
| ANTTREIL m2 | 0.50 X 1.00 0.500
(e 50 AsBHIEREEL | FBAEBRAs 40 BT T
100 s 150 |HEL T m3 | 0.50 X 0.15 0.075
¢ ! B 110 Ty
| HEL T m3 | 0.50 X 0.50 0.250
iﬁdﬁ??y“/’v*?‘/ 150
1070 FEm PRl o FOEEBEL T m3 | 0.50 X 0.32 — 0.011 0.149
! GeAE+wm 0.535 — 0.250 (0.285)
1120 | PRy T m3 0.535
- 500 |[As
%
| REE HI5 T m3 | 0.50 % 0.05 0.025
| PR 2R As
| EEEIHT t=4cm | m2 [ 0.50 X 1.00 0.500
! 100 T
b P T t=11cm | m2 [ 0.50 X 1.00 0.500
| 120 1320
100
:
EEREERR = 0.12°X /4
= 0.011 m3

32




W ¥ B =l A "
H i + T ¥ & 5 &8 F Mm%
T Fi AR NI RS 4 ®r AR~ BN i &' KX o &
As
4 Sl T t=5cm m | 1.00 X 2 2.000
As
HIBE] SAE R T t=5cm | m2 | 0.50 X 1.00 0.500
500
+40 CF5)) AR E T m3 | 0.50 X 1.04 0.520
H=0.90m WmEl | #HEL
0.6~1.2 I ANSTEEL m2 | 0.50 X 1.00 0.500
(e 50 AsBHIEHEEL | FB/EBRAs 40 Y T
75 s 150 |HEL T m3 | 0.50 X 0.15 0.075
¢ ! B 110 Ty
| HEL T m3 | 0.50 X 0.50 0.250
iﬁdﬁ??y“/’v*?‘/ 150
1040 FEm PRl o FOEEBEL T m3 [ 0.50 X 0.29 — 0.006 0.139
! GeAE+3m 0.520 — 0.250 0.270)
1090 | R T m3 0.520
- 500 |[As
%
| REE HI5 T m3 | 0.50 % 0.05 0.025
| PR 2R As
| EEEIHT t=4cm | m2 [ 0.50 X 1.00 0.500
! 100 T
b P T t=11cm | m2 [ 0.50 X 1.00 0.500
| 90 1290
100
:
RERERR = 0.09 °X gz /4
= 0.006 m3

33




W ¥ B =l A "
H i + T ¥ & 5 &8 F Mm%
T Fi AR NI RS 4 ®r AR~ BN i &' KX o &
As
5 Sl T t=5cm m | 1.00 X 2 2.000
As
HIBE] SAE R T t=5cm | m2 | 0.50 X 1.00 0.500
500
+#%0 bk R T m3 | 0.50 X 1.04 0.520
H=0.90m WmEl | #HEL
| ANTTREIL m2 | 0.50 X 1.00 0.500
(e 50 AsBHIEREEL | FBAEBRAs 40 Y T
75 s 150 |HEL T m3 | 0.50 X 0.15 0.075
¢ ! B 110 Ty
| HEL T m3 | 0.50 X 0.50 0.250
iﬁdﬁ??y“/’v*?‘/ 150
1040 FEm PRl o FOEEBEL T m3 [ 0.50 X 0.29 — 0.006 0.139
! GeAE+3m 0.520 — 0.250 0.270)
1090 | R T m3 0.520
- 500 |[As
%
| REE HI5 T m3 | 0.50 % 0.05 0.025
| PR 2R As
| EEEIHT t=4cm | m2 [ 0.50 X 1.00 0.500
! 100 T
b P T t=11cm | m2 [ 0.50 X 1.00 0.500
| 90 1290
100
:
RERERR = 0.09 °X gz /4
= 0.006 m3

34




W ¥ B =l A "
H i + T ¥ & 5 &8 F Mm%
T Fi AR NI RS 4 ®r AR~ BN i &' KX o &
As
6 Sl T t=5cm m | 1.00 X 2 2.000
As
HIBE] SAE R T t=5cm | m2 | 0.50 X 1.00 0.500
500
+#%0 bk R T m3 | 0.50 X 0.77 0.385
H=0.60m WmEl | #HEL
| ANTTREIL m2 | 0.50 X 1.00 0.500
(e 50 AsBHIEREEL | FBAEBRAs 40 Y T
100 s 150 |HEL T m3 | 0.50 X 0.15 0.075
¢ ! B 110 Ty
| HEL T m3 | 0.50 X 0.20 0.100
iﬁdﬁ??y“/’v*?‘/ 150
770 FEm PRl o FOEEBEL T m3 | 0.50 X 0.32 — 0.011 0.149
! GeAE+wm 0.385 — 0.100 (0.285)
820 | A T m3 0.385
- 200 [As
%
| REE HI5 T m3 | 0.50 % 0.05 0.025
| PR 2R As
| EEEIHT t=4cm | m2 [ 0.50 X 1.00 0.500
! 100 T
b P T t=11cm | m2 [ 0.50 X 1.00 0.500
| 120 1320
100
:
EEREERR = 0.12°X /4
= 0.011 m3

35




W ¥ B =l A "
H i + T ¥ & 5 &8 F Mm%
T Fi AR NI RS 4 ®r AR~ BN i &' KX o &
As
7 Sl T t=5cm m | 1.00 X 2 2.000
As
HIBE] SAE R T t=5cm | m2 | 0.50 X 1.00 0.500
500
+#%0 bk R T m3 | 0.50 X 0.74 0.370
H=0.60m WmEl | #HEL
| ANTTREIL m2 | 0.50 X 1.00 0.500
(e 50 AsBHIEHEEL | FB/EBRAs 40 Y T
75 s 150 |HEL T m3 | 0.50 X 0.15 0.075
¢ ! B 110 Ty
| HEL T m3 | 0.50 X 0.20 0.100
iﬁdﬁ??y“/’v*?‘/ 150
740 FEm PRl o FOEEBEL T m3 [ 0.50 X 0.29 — 0.006 0.139
! GeAE+wm 0.370 - 0.100 0.270)
790 | A T m3 0.370
- 200 [As
%
| REE HI5 T m3 | 0.50 % 0.05 0.025
| PR 2R As
| EEEIHT t=4cm | m2 [ 0.50 X 1.00 0.500
! 100 T
b P T t=11cm | m2 [ 0.50 X 1.00 0.500
| 90 1290
100
:
RERERR = 0.09 °X gz /4
= 0.006 m3

36




B ¥ B =l A w
H i + T ¥ & 5 &8 F m>40)
T Fi AR NN RS AR AR~ BN i &' KX B B
As
8 Sl T t=5cm m | 1.00 X 2 2.000
As
HIBE] SAE R T t=5cm | m2 [ 0.90 X 1.00 0.900
900
+40 CF5)) Mt EI T m3 [ 0.90 X 0.92 0.828
H=0.75m PEE] H R
0.9~0.6 NFTEEL m2 [ 0.90 X 1.00 0.900
(e 50 AsHBUEL | FEFRIAS 40 BTG p—T
$ 100 i B AT 110|150 PEELL m3 [ 0.90 X 0.15 0.135
675 ! ! P
| ATy —T HELT m3 [ 0.90 X 0.35 0.315
! ! 150
920 &%bﬂz%‘%u! ! WPH L T m3 [0.90 X 0.32 — 0.016 0.272
! ! (/£ 138 0.828 — 0.315 (0.513)
970 | | R T m3 0.828
S Ya 350 |[As
| ! HI4 T m3 | 0.90 X 0.05 0.045
| | FAEERIAS
| : EEEIHT t=4cm | m2 [ 0.90 X 1.00 0.900
R 100 VAT =t
PR T t=11cm | m2 | 0.90 X 1.00 0.900
i 120 1320
! 100
| |
1 1
B R 0.11 °X 7 /4
= 0.0l m3
BIREERR = 0.09 %X /4
= 0.006 m3
> = 0.016 m3

37




H oy £ T # 8 5 5 & m

T Fi AR NN RS AR AR~ BN ioam K B B
As
9 Sl T t=5cm m | 1.00 X 2 2.000
As
HIBE] SAE R T t=5cm | m2 [ 0.90 X 1.00 0.900
900
+#50 AR T m3 | 0.90 X 0.77 0.693
H=0.60m SRR
| | NITEBL m?2 [ 0.90 X 1.00 0.900
e 50 AsHUEEL | A ERIAS 40 BTy e —T
$ 100 v ORIERREA 110 150 PERLT m3 [ 0.90 X 0.15 0.135
675 | | &
| AEY Ty —T ML T m3 [ 0.90 X 0.20 0.180
' - 150
770 Hertopmi) | | WL T m3 | 0.90 X 032 — 0.016 0.272
| | (RAE+%A 0.693 - 0.180 (0.513)
820 | ; A sy T m3 0.693
N+ Y 200 [As
| | HZ M5y T m3 [0.90 X 0.0 0.045
| | A ZRIAs
' - EEEIHT t=4cm | m2 [ 0.90 X 1.00 0.900
2 100 R
| PR T t=11cm | m2 | 0.90 X 1.00 0.900
i 120 1320
[ | 100
| |
B ARYERR 0.11 °X /4
= 0.01 m3
RERERR = 0.09 °X gz /4
= 0.006 m3
> = 0.016 m3

38




Bs o Ll 2 = = fehs SRl
H i + T ¥ & g 8 & 17241
T Fi AR NI RS AR AR~ BN ioam K o &
As
10 S T t=5em | m [(1.20 + 1.50) X 2 5.400
As
HIBE] SAE R T t=5cm | m2 | 1.20 X 1.50 1.800
R — 1200
+#50 KAk I ] T m3 [ 1.20 X 0.65 X 1.50 1.170
H=0.90m \H | HEL - 0.017
| N J14EE T m3 | 1.20 X 052 X 1.50 0.920
RS 50 AsERIERLEEL | HAERIAS 40 ATy e
$ 100 i - 110 150 %iii m3 [ 1.20 X 0.15 X 1.50 0.270
[=1.50m | HEL T m3 [1.20 X 050 X 1.50 0.900
VAT T 150 - 0.017
650 Memgmy) | WL T m3 | 1.20 x 042 x 150 0.740
| (A +5m 2.090 - 0.900 (1.190)
1220 ! A T m3 2.090
! P 500 [As
! HIHAS T m3 | 1.80 X 0.05 0.090
| PR ERIAS
200 - AEEIR T t=4ecm | m2 | 1.20 X 1.50 1.800
AN ] 100 A
520 | b PR T t=11cm | m2 | 1.20 X 1.50 1.800
120 i 120 1420
200 [ 200
|
BREERR = 0.12°X gz /4
= 0.011 m3
0.0165 m3

39




ML+ T % & 5t &H & m %

T Fi AR NI RS 4 ®r TR BAAE ioam K o &
As
11 Sl T t=5cm m | 1.00 X 2 2.000
AR B As
1B SAE R T t=5cm | m2 [ 0.50 X 1.00 0.500
500
+#50 KAk I ] T m3 | 0.50 X 0.45 0.225
H=0.50m EE | HEREL
| NITEBL m?2 [ 0.50 X 1.00 0.500
= 50 AsBHIEREEL | FEBRIAs 50 |mArTvr—T
$ 100 | HEL LT m3 [ 0.50 X 0.25 0.125
| T+
| BT =T 250 [HERELT m3 [ 050 X 0.20 — 0.011 0.089
450 eme) |
| G+ m 0.225 - 0.089 (0.136)
500 i R T m3 0.225
1 3 AS
! AL H T/ T m3 | 0.50 X 0.05 0.025
| A ZRIAs
' SAEEIH T t=5cm | m2 | 0.50 X 1.00 0.500
| 200
|
D 120
|
|
BREERR = 0.12°X gz /4
= 0.011 m3

40




ML+ T % & 5t &H & m %

T Fi AR NI RS 4 ®r TR BAAE ioam K o &
As
12 Sl T t=5cm m | 1.00 X 2 2.000
AR B As
HIBE] SAE R T t=5cm | m2 [ 0.50 X 1.00 0.500
500
+#50 KAk I ] T m3 | 0.50 X 0.45 0.225
H=0.50m EE | HEREL
| NITEBL m?2 [ 0.50 X 1.00 0.500
= 50 AsBHIEREEL | FEBRIAs 40 |FEErToe—T
$ 100 | HEL LT m3 [ 0.50 X 0.26 0.130
| T+
| BT =T 260 [HERELT m3 [ 050 X 0.20 — 0.011 0.089
450 eme) |
| G+ m 0.225 - 0.089 (0.136)
500 i R T m3 0.225
1 3 AS
! AL H T/ T m3 | 0.50 X 0.05 0.025
| A ZRIAs
' SAEEIH T t=4cm | m2 [ 0.50 X 1.00 0.500
| 200
|
D 120
|
|
BREERR = 0.12°X gz /4
= 0.011 m3

41




B Ay ¥ B =l "
H i + T ¥ & g 8 & Mm%y
T Fi AR NN RS AR TR BAAE ioam K o &
13
B As
FF1E SAE R T t=5cm | m2 [ 0.50 X 1.00 0.500
500
+#50 ‘ AR T m3 | 0.50 X 0.13 0.065
H=0.50m P! HRL
| NJ14EE m3 [ 0.50 X 0.32 — 0.011 0.149
(e 50 AsBHIEREEL | FEBRIAs 50 |mArTvr—T
$ 100 | HEL LT m3 [ 0.50 X 0.10 0.050
130 | HERA 150 [F&4 T+
FEARHEH | HREL T m3 | 0.50 X _ 0.20 0.100
VAT T T 100
|
| GeEtwm 0.214 - 0.100 0.114)
500 i Py T m3 0.214
1 3 AS
| AL HZ M5y T m3 [ 0.50 X 0.05 0.025
320 NTHERL AR RIAS
- EEEIHT t=5cm | m2 [ 0.50 X 1.00 0.500
| 200 [BiaREA
| AT t=15cm | m2 [ 0.50 X 1.00 0.500
i 120
|
|
BREERR = 0.12°X gz /4
= 0.011 m3

42




B Ay ¥ B =l "
H i + T ¥ & g 8 & Mm%y
T Fi AR NN RS AR TR BAAE ioam K o &
14
B As
HIBE] SAE R T t=4cm | m2 [ 0.50 X 1.00 0.500
500
+#50 ‘ AR T m3 | 0.50 X 0.14 0.070
H=0.50m P! HRL
| NJ14EE m3 [ 0.50 X 0.32 — 0.011 0.149
(e 40 AsBHIEREEL | FEBRIAs 40 |EEZTor—T
$ 100 | HEL LT m3 [ 0.50 X 0.15 0.075
140 | HERA 110 [F&4 T+
FEARHEH | HREL T m3 | 0.50 X _ 0.20 0.100
VAT =T 150
|
| FE+3m 0.219 - 0.100 0.119)
500 i R T m3 0.219
1 3 AS
| AL HZ M5y T m3 [0.50 X 0.04 0.020
320 NTHERL AR RIAS
- EEEIHT t=4cm | m2 [ 0.50 X 1.00 0.500
| 200 [BiaREA
| PR T t=11cm | m2 | 0.50 X 1.00 0.500
i 120
|
|
BREERR = 0.12°X gz /4
= 0.011 m3

43




